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Mathematics Practice Set Mixture & Alligation Set –I
 

1. Vessels A and B contain mixtures of milk and water 

in the ratios 4 :5  and 5:1  respectively. In what 

ratio should quantities of mixture be taken from and  

B to from a mixture in which milk to water is in the 

ratio5: 4 ? 

crZu A  vkSj crZu B  ds feJ.k eas nw/k vkSj ikuh dk vuqikr 

4 :5  vkSj 5:1 gSA crZu A  vkSj crZu B  ls fdl vuqikr 

esa feJ.k fudkyk tk, fd nw/k vkSj ikuh dk vuqikr 5: 4  gks 

tk,A 

a) 2 :5    b) 4 :3  

c) 5: 2    d) 2 :3  

2. The milk and water in a mixture are in the ratio 7 :5

. When 15  litres of water are added to it. The ratio 

of milk and water in the new mixture becomes 7 :8
. The total quantity of water in the new mixture is. 

,d feJ.k eas nw/k vkSj ikuh dk vuqikr 7 :5  gSA tc blesa 15  

yhVj ikuh feyk;k tkrk gS rks u, feJ.k eas nw/k vkSj ikuh dk 

vuqikr 7 :8  gks tkrk gSA u, feJ.k esa ikuh dh dqy ek=k 

crk,A 

a) 35  litres  b) 40  litres 

c) 60  litres  d) 96  litres 

3. 200  litres of a mixture contains 15%  water and the 

rest is milk. The amount of milk that must be added 

so that the resulting mixture contains 87.5%  milk 

is. 

200  yhVj ds feJ.k eas 15%  ikuh gS vkSj “ks’k nw/k gSA u, 

feJ.k eas 87.5%  nw/k cukus ds fy, blesa fdruk nw/k feyk;k 

tk,A 

a) 30  litres  b) 35  litres 

c) 40  litres  d) 45  litres 

4. A person has a chemical of .25Rs  per litre. In what 

ratio should water be mixed with chemical the 

mixture at .20Rs  litres he may get profit of 25% . 

,d vkneh ds ikl 25  :i;s izfr yhVj okyk jlk;u gSA fdl 

vuqikr esa ikuh dks jlk;u ls feyk;k tk, rkfd feJ.k dks 20  

:i;s izfr yhVj cspus ij 25%  dk ykHk izkIr gksA 

a) 14 :9    b) 16 :9  

c) 9 :14    d) 9 :16  

5. 7kg of tea costing .280Rs  per is mixed with 9kg  

of  tea costing .240Rs  per. The average price of per 

kg  of the mixed tea is. 

280  :i;s izfr fdxzk- dh 7  fdxzk- pk; dks 240  :i;s izfr 

fdxzk- dh 9  fdxzk- pk; dks feyk;k tkrk gSA fefJr pk; dk 

vkSlr ewY; izfr fdxzk- crk,¡A 

a) .255.80Rs   b) .257.50Rs  

c) .267.20Rs   d) .267.50Rs  

6. In what ratio must a mixture of 30%  alcohol 

strength be mixed with that of 50%  alcohol 

strength so as to get mixture of 45%  alcohol 

strength. 

30%  ,Ydksgy ek=k okys feJ.k dks 50% ,Ydksgy ek=k okys 

feJ.k eas fdl vuqikr es feyk;k tk, fd u, feJ.k esa 45%  

,Ydksgy gksA 

a) 1: 2    b) 1:3  

c) 2 :1   d) 3:1  

7. In a 729  litres mixture of milk and water the ratio 

of milk to water is 7 : 2 . To get a new mixture 

containing milk and water in the ratio 7 :3 , the 

amount of water to be added is. 

729  yhVj okys feJ.k es nw/k vkSj ikuh dk vuqikr 7 : 2  gSA 

bleas fdruk ikuh feyk;k tk, rkfd u, feJ.k eas nw/k vkSj ikuh 

dk vuqikr 7 :3  gks tk,A 

a) 81 litres  b) 71  litres 

c) 56  litres  d) 50  litres 

8. In a 40  litres mixture of milk and water the ratio of 

milk to water is 7 :1. In order to make the ratio of 

milk and water3:1 , the quantity of water (in litres) 

that should be added to the mixture will be. 

40  yhVj ds feJ.k eas nw/k vkSj ikuh dk vuqikr 7 :1 gSA blesa 

fdruk ikuh feyk;k tk, rkfd ,d feJ.k eas nw/k vkSj ikuh dk 

vuqikr 3:1 gks tk,A 

a) 
2

6
3

   b) 
1

6
2

 

c) 99    d) 
3

6
4

 

9. In an alloy, zinc, and copper are in the ratio1: 2 . In 

the second alloy, the same elements are in the ratio
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2 :3 . If these two alloys be mixed to form a new 

alloy in which two elements are the ratio 5:8 , the 

ratio of these two alloys in the new alloys is. 

,d feJ/kkrq eas] ftad vkSj dkWij dk vuqikr 1: 2 gSA nwljs 

feJ/kkrq eas ftad vkSj dkWij dk vuqikr 2 :3  gSA ;fn bu nksuksa 

feJ/kkrqvkas dks feyk;k tkrk gSA rks u, feJ/kkrq eas ftad vkSj 

dkWij dk vuqikr 5:8 gks tkrk gS rks u, feJ/kkrq eas bu nksuksa 

feJ/kkrqvksa dk vuqikr crkvksA 

a) 3:10    b) 3: 7  

c) 10 :3    d) 7 :3  

10. A jar contained a mixture of two liquids A and B in 

the ratio 4 :1. When 10  litres of the mixture was 

taken out and 10  litres of liquid B was poured into 

the jar. This ratio became 2 :3 . The quantity of 

liquid A contained in the jar initially was. 

,d tx eas nzo A  vkSj nzo B  ds feJ.k dk vuqikr 4 :1 gSA 

tc 10  yhVj ds feJ.k dks fudkydj vkSj 10  yhVj nzo B  

Mkyk tkrk gS rks tx eas nzo A  vkSj nzo B  dk vuqikr 2 :3  

gks tkrk gSA izkjaHk esa nzo A  dh ek=k crk,aA 

a) 4  litres  b) 8  litres 

c) 16  litres  d) 40  litres 

11. In a mixture of 25  litres, the ratio of acid is water 

is 4 :1. Another 3  litres of water is added to the 

mixture. The ratio of acid to water in the new 

mixture is. 

25  yhVj okys feJ.k eas vEy vkSj ikuh dk vuqikr 4 :1 gSA 

bleas 3  yhVj ikuh vkSj feyk;k tkrk gSA rks u, feJ.k eas vEy 

vkSj ikuh dk vuqikr crk,aA 

a) 5: 2    b) 2 :5  

c) 3:5    d) 5:3  

12. Two equal vessels are filled with the mixture of 

water and milk in the mixtures of water and milk in 

the ratio of 3: 4  and 5:3  respectively. If the 

mixtures are poured into a third vessel, the ratio of 

water and milk in the third vessel will be. 

nks leku crZukas dks ikuh vkSj nw/k ds 3: 4  vkSj 5:3 ds vuqikr 

ls Hkjk tkrk gS ;fn bu feJ.kksa dks rhljs crZu eas Mkyk tkrk 

gSA rks u, feJ.k eas ikuh vkSj nw/k dk vuqikr crk,aA 

a) 15:12    b) 53:39  

c) 20 :9    d) 59:53  

13. Two vessels A and B contains acid and water in the 

ratio 4 :3  and 5:3  respectively. Then the ratio in 

which these mixture to be mixed to obtain a new 

mixture in vessel C containing acid and water in the 

ratio 3: 2  is. 

nks crZuksa A  vkSj B  eas vEy vkSj ikuh dk vuqikr 4 :3  vkSj 

5:3   gSA rks nks feJ.kksa dks fdl vuqikr eas feyk;k tk, rkfd 

C  crZu eas cuk, feJ.k eas vEy vkSj ikuh dk vuqikr 3: 2  

gksA 

a) 5:8    b) 7 :8  

c) 7 :5    d) 4 : 7  

14. Two containers have acid and water mixed 

respectively in the ratio 3:1  and 5:3 . To get a new 

mixture with ratio of acid to water as 2 :1 the two 

types have to be mixed in the ratio? 

nks crZuksa eas vEy vkSj ikuh dk vuqikr Øe”k% 3:1 vkSj 5:3 

gSA bu feJ.kksa dks fdl vuqikr eas feyk;k tk, rkfd u, feJ.k 

eas vEy vkSj ikuh dk vuqikr 2 :1 gks tk,A 

a) 1: 2    b) 2 :1 

c) 2 :3    d) 3: 2  

15. Acid and water are mixed in a vessel A in the ratio 

of 5: 2  and  in the vessel B in the ratio8:5 . In what 

proportion should quantities be taken out from the 

two vessels so as to form a mixture in which the 

acid water will be in the ratio of 9 : 4? 

crZu A  eas vEy vkSj ikuh dk vuqikr 5: 2  gSA crZu B  eas 

vEy vkSj ikuh dk vuqikr 8:5 gSA nksuksa crZuksa ls fdl vuqikr 

eas feJ.k fudkyk tk, rkfd u, feJ.k eas vEy vkSj ikuh dk 

vuqikr 9 : 4  gksA 

a) 7 : 2    b) 2 : 7  

c) 7 : 4    d) 2 :3  

16. The acid and water in two vessels A and B are in 

the ratio 4 :3  and 2 :3 . In what ratio should the 

liquids in both the vessels be mixed to obtain a new 

mixture in vessel C containing half acid and half 

water? 

nks crZukas A  vkSj B  eas vEy vkSj ikuh dk vuqikr 4 :3  vkSj 

2 :3  gSA nksuksa crZuksa ds nzo dks fdl vuqikr eas feyk;k tk, 

rkfd crZu C  eas cus u, feJ.k eas vk/kk vEy vkSj vk/kk ikuh 

gksA 

a) 7 :5    b) 5: 7  

c) 7 :3    d) 5:3  

17. The ratio of spirit and water in two mixtures of 20

litres and 36  litres is 3: 7  and 7 :5  respectively. 

Both the mixtures are mixed together. Now the 

ratio of the spirit and water in the new mixture is. 
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20  yhVj vkSj 36  yhVj ds nks feJ.kksa esa fLifjV vkSj ikuh 

dk vuqikr 3: 7  vkSj 7 :5  gSA nksukas feJ.kksa dks ,d lkFk 

feyk fn;k tkrk gS rks u, feJ.k eas fLifjV vkSj ikuh dk vuqikr 

crkvksA 

a) 25: 29    b) 9 :10  

c) 27 : 29    d) 27 :31  

18. Two vessel A and B contain acid and water mixed 

in the ratio 2 :3  and 4 :3 . In what ratio must these 

mixtures be mixed to form a new mixture 

containing half acid and half water? 

nks crZukas A  vkSj B  eas vEy vkSj ikuh dk vuqikr 2 :3  vkSj 

4 :3  gSA u;k feJ.k cukus ds fy, nksukas feJ.kksa dks fdl 

vuqikr esa feyk;k tk, rkfd u, feJ.k eas vk/kk vEy vkSj vk/kk 

ikuh gksA 

a) 5: 7    b) 1: 2  

c) 2 :1   d) 7 :5  

19. Alcohol and water in two vessels A and B are in the 

ratio 5:3  and 5: 4  respectively. In what ratio, the 

liquids in both the vessels be mixed to obtain a new 

mixture in vessel C in the ratio 7 :5? 

nks crZuksa A  vkSj B  eas ,Ydksgy vkSj ikuh dk vuqikr 5:3  
vkSj 5: 4  gSA nksukas crZuksa ds nzo dks fdl vuqikr eas feyk;k 

tk, rkfd crZu C  eas cus u, feJ.k eas ,Ydksgy vkSj ikuh dk 

vuqikr gksA 

a) 2 :3    b) 3: 2  

c) 3:5    d) 2 :5  

20. A vessel is filled with liquid, 3  parts of which are 

water and 5  parts are syrup. How much of the 

mixture much be drawn off and replaced with water 

so that the mixture may be half water and half 

syrup? 

,d crZu nzo ls Hkjk gqvk gS ftleas 3  Hkkx ikuh gS vkSj 5  

Hkkx fliZ gSA fdruk feJ.k ckgj fudkyk tk, vkSj mruk gh 

ikuh feyk;k tk, rkfd feJ.k eas vk/kk ikuh vkSj vk/kk fliZ gSA 

a) 
1

3
   b) 

1

4
 

c) 
1

5
   d) 

1

7
 

21. In an alloy there is 12%  of copper. To get  69kg  of 

copper. How much alloy will be required? 

,d feJ/kkrq esa 12% dkWij gSA 69 fdxzk- dkWij izkIr djus ds 

fy, fdruh feJ/kkrq pkfg,A 

a) 424kg    b) 575kg  

c) 828kg    d) 
2

1736
3

kg  

22. A mixture contains spirit and water in the ratio 3: 2

. If it contains 3  litres more spirit more spirit than 

water. The quantity of spirit in the mixture is. 

,d feJ.k eas fLifjV vkSj ty dk vuqikr 3: 2  gSA ;fn blesa 

fLifjV ty ls 3yhVj vf/kd gks rks feJ.k fLifjV dh ek=k 

Kkr djsaA 

a) 10  litres  b) 12 litres 

c) 8  litres d)  d) 9  litres 

23. 40  liters of a mixture of milk and water contains of 

10%  water, the water to be added, to make the 

water content 20%  in the new mixtures: 

40  yhVj ds feJ.k eas nw/k vkSj ikuh gSA ;fn blesa ikuh dh 

ek=k 10%  gS rks u, feJ.k esa ikuh dh ek=k 20%  cukus ds 

fy, blesa fdruk ikuh feyk;k tk,A 

a) 6  litres  b) 6.5 litres 

c) 5.5  litres  d) 5  litres 

24. A mixture of 30  litres contain milk and water in the 

ratio of 7 :3 . How much water should be added to 

it so that the ratio of milk and water becomes 3: 7 ? 

,d 30  yhVj dh feJ.k eas nw/k vkSj ikuh dk vuqikr 7 :3  

gSA nw/k vkSj ikuh dk vuqikr 3: 7  cukus ds fy, bleas fdruk 

ikuh feyk;k tk,A 

a) 40   litres  b) 49  litres 

c) 56  litres  d) 63  litres 

25. How much pure alcohol has to be added to 400ml  

of a solution containing 15%  of alcohol to change 

the concentration of alcohol in the mixture to 32%
? 

400  fe-yh- ds ,d ?kksy eas 15%  ,Ydksgy gSA feJ.k eas 

,Ydksgy dh lkanzrk 32% cukus ds fy, blesa fdruk “kq) 

,Ydksgy feyk;k tk,A 

a) 60ml    b) 100ml  

c) 128ml    d) 68ml  
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Solution:- 

1- (c) According to the question  

 
   Milk : Water 

Mixture A  8 : 10 

Mixture B  15 : 3 

Final mixture 10 : 8 

By alligation rule (milk) 

 
2- (b) According to the question 

 
Remember water is added and not milk, so make 

milk equal here milk is already equal ¼/;ku j[ksa fd 

ikuh feyk;k x;k gS nw/k ughaA vr% nw/k dh ek=k dks 

cjkcj djsa] ysfdu ;gka nw/k dh ek=k cjkcj gSa½ 

3 units = 15 litres 

1 unit = 5 litres 

8 units = 40 litres 

Total quantity of water in the new mixture ¼u;s 

feJ.k esa ikuh dh dqy ek=k½ ¾ 40 litres 

3- (C) According to the question 

Initial mixture contains 15 % water ¼vkjafHkd feJ.k 

15% ikuh Fkk½ 

Therefore milk content in the mixture ¼var% feJ.k esa 

nw/k dh ek=k½ ¾ ¼100 & 15½% milk 

By alligation rule: 

 
Amount of milk added ¼feyk;s x;s nw/k dh ek=k½ ¾ 

40 litres 

4- (d) Let the price of the water be Rs. 0 ¼ekuk fd ikuh 

dk ewY; 0 #i;s gSa½ 

According to the question ¼iz”ukuqlkj½ 

S.P of the mixture ¼feJ.k dk foØ; ewY;½ ¾ Rs.20 

C.P of the mixture ¼feJ.k dk Ø; ewY;½ 

100
20 .16

125
Rs    

Now Using Alligation method 

   
Ratio of water to chemical ¼dSfedy esa ikuh dk 

vuqikr½ ¾ 9 % 16 

5- (b) According to the question 

Average price of mixed tea ¼fefJr pk; dk vkSlr 

ewY;½ ¾ 
280 7 240 9

16

  
  

  

1960 2160

16




 

 

4120
257.50

16
 
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Alternate: 

   
280 22.5x    

280 22.5 .257.50x Rs    
6- (b) According to the question 

By Alligation: 

   
7- (a) According to the question 

 
 Remember, water is added not milk, so make 

milk equal. Here milk is already equal ¼/;ku j[ksa fd 

ikuh feyk;k x;k gS nw/k ughaA vr% nw/k dh ek=k dks 

cjkcj djs] ysfdu ;gka nw/k dh ek=k cjkcj gSa½ 

9 units = 729 

1 unit = 81 litres 

The amount of water added ¼feyk;s x;s ikuh dh 

ek=k½ ¾ 81 litres 

8- (a) According to the question 

Milk   :   Water 

Initial Ratio 7x3    :   1x3 

Final Ratio  3x7    :   1x7 

Remember, water is added, not milk, so make 

milk equal ¼/;ku j[ksa fd ikuh feyk;k x;k gS nw/k 

ughaA vr% nw/k dh ek=k dks cjkcj djsa½ 

 
24 Units = 40 litres 

 1 unit = 
40

24
 litre 

 4 units = 

40
4

24


 

 

40 20 2
6

6 3 3
  

 
9- (a) According to the question 

 
First alloy ¼igyk feJ/kkrq½   65   :   130 

Second alloy ¼nwljk feJ/kkrq½   78   :   117 

New alloy ¼u;k feJ/kkrq½   75   :   120 

Apply Alligation 

   
10- (c) According to the question 

10 litres of mixture taken out ¼10 yhVj feJ.k fudky 

fn;k x;k½ 

New Ratio will also be 4 : 1 ¼u;k vuqikr Hkh 4%1 

gksxk½ 

     

Liquid B is poured, there is no change in A make 

A equal. ¼ B nzo Mkyk x;k] o A ek=k esa dksbZ cnyko 

ugha vk;k] vr% A dh ek=k cjkcj djsa½ 
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A : B 

4 : 1 

2x2 : 3x2  

 
  5 unit = 10 litres 

1 unit = 2 litres 

5 units = 10 litres 

But 10 litres were initially taken out ¼ysfdu vkjaHk esa 

10 yhVj fudkyk x;k½ 

 Initial mixture ¼vkjafHkd feJ.k½ ¾ 10 + 10 = 20 litres 

Quantiy ¼ek=k½] A = 
4

20
5
 = 16 litres 

Alternate: 

Let the initial quantity Liquid A and B = 4x and x 

¼ekuk fd A rFkk B dh vkjafHkd ek=k Øe”k% 4x vkSj 

x gS½ 

According to question 

    

4 8 2

2 10 3

x

x




   

    12 24 2 16x x    

    10 40x   

    4x   
 Initial quantity ¼vkjafHkd ek=k½ ¾ 4 4 4x    16 

litres 

11- (a) According to the question, 

Mixture = 25 litres 

Ratio of  

    5 Units 25 litres 

1 unit 5 litres 

   
4 5 20

1 5 5

Acid

Water


 


 

Acid  Water 

Initial  20 : 5 

     + 

      3 

      … 

   20 : 8 

   5 : 2 

12- (d) According to the question, 

Water  Milk  Total 

Vessel – 1  3x8 = 24 4x8 = 32 7x8 

Vessel – 2 5x7 = 35 3x7 = 21 8x7 

Final ratio:         59      :          53 

Note: If two different solution are mixed then 

ensure that the quantity of both solution are same. 

uksV% ;fn nks feJ.k feyk;s tkrs gSa rks bl ckr dk 

/;ku j[ksa nksuksa feJ.k dh ek=k cjkcj gksA 

13- (b) According to the question, 

  Acid  Water 

Vessel A 4 : 3 

Vessel B 5 : 3 

Now using alligation, 

   
Final Ratio:-  7              :          8  

14- (a) 

  Acid  Water 

Vessel A 3 : 1 

Vessel B 5 : 3 

Use Alligation 

 
Ratio of  1 : 2 

15- (a) According to the question, 

   Acid  Water 

Vessel – A  5 : 2 

Vessel – B  8 : 5 
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Now using Alligation, 

 
Ratio of Quantity:-   7 : 2  

16- (a) According to the question, 

  Acid   Water 

Vessel – A 4  : 3 

Vessel – B 2  : 3 

Now using Alligation, 

 
Ratio of Quantity:- 7 : 5 

17- (c) According to the question, 

Mixture – 1 = 20 litres 

Mixture – 2 = 36 litres 

 

 
10 units  20 litres   12 units

  36 litres 

1 unit  2 litres   

1 unit  3 litres 

   in Mixture – 1 
3 2 6

7 2 14

Spirit

Water


 


 

   in Mixture – 2
7 3 21

5 3 15

Spirit

Water


 


 

Ratio of spirit and water ¼fLizV rFkk ikuh dk vuqikr½ 

 =
6+21

14+15
=

27

29
 

 
 

18- (a) 

Acid   Water 

Vessel – A 2  : 3 

Vessel – B 4  : 3 

Now using Alligation, 

   
Ratio of Quantity:- 5 : 7 

19- (a) According to the question, 

   Alcohol Water 

Vessel – A   5 : 3 

Vessel – B  5 : 4 

Now using Alligation, 

 
Ratio of Quantity:- 2 : 3  

20- (c) According to the question, 
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Water add in final ¼vafre feJ.k esa ikuh dk Hkkx½ ¾ 

2 1

10 5
  

21- (b) According to the question ¼iz”ukuqlkj½] 

Alloy contains 12%  of copper ¼feJ/kkrq eas 12%  

rk¡ck gSA½ 

12 3

100 25 ( )

Copper

Mixture alloy


 


 

3kg of copper in 25kg mixture ¼ 25  fdxzk- feJ.k es 3  

fdxzk- rk¡ck gS½ 

1kg of copper ¼ fdxzk rk¡ck½ 
25

3
kg  

69kg of copper ¼ 69  fdxzk- rk¡ck½ 
25

69
3

   

Alloy ¼feJ/kkrq½ 25 23 575kg    

22- (d) Let the amount of water be x  litre ¼ekuk dh ikuh dh 

ek=k x  yhVj gSA½ 

According to the question ¼iz”ukuqlkj½] 

3 3

2

x

x


  

6x   
Quantity of sprit in the mixture ¼feJ.k esa fLizV dh ek=k½

3 6 3 9x      
Alternate: 

Spirit  :  Water 

       

 3   :   2  
  

1 unit more 

 1 3unit  litres 

 3 9units  litres 

23- (d) Water content in 40  litres of mixture ¼40 yhVj feJ.k 

esa ikuh dh ek=k½ 

10
40 4

100
    

milk in the mixture ¼feJ.k esa nw/k dh ek=k½

40 4 36   litres 

Let x litres of water is mixed ¼ekuk dh x  yhVj ikuh 

feyk;k x;k½ 

4 20 1

40 100 5

x

x


 


 

5x  litres 

 
 

5    5  

40    5 litres 

Note: You can also solve this problem by ratio 

method. 
uksV% vki bl iz”u dks vuqikr fof/k }kjk Hkh gy dj ldrs gSA 

Alternate: 

Change the percentage into the ratio ¼izfr”kr dks vuqikr 

eas cnys½ 

Initial mixture   Final mixture 

10% water   20%  water 

10 1

100 10

water

mixture





 

20 1

100 5

water

mixture





 


1 1

10 1 9

water

milk
 



1 1

5 1 4

water

milk
 


 

Now, 

Water  : milk 

Initial Ratio 41   :  49  

Final Ratio 91   :  94  

Remember water is added not milk, so make milk 

equal ¼/;ku j[ksa fd ikuh feyk;k x;k gS nw/k ughaA vr% nw/k dh 

ek=k dks cjkcj djsaA½ 

Initial Ratio Water   Milk 

  4  :  36  4 36 40    
         5 

Final Ratiounits add 9  :  36  

  40 40units  litres  

 1 1unit  litre  

 5 5units  litres   

24- (a)   Milk : Water 

Initial Ratio 37  :  33  

Final Ratio 73  :  77  

Remember water is added not milk, so make milk 

equal to total ¼/;ku j[ksa fd ikuh feyk;k x;k gS nw/k ughaA vr% 

nw/k dh ek=k dks cjkcj djsaA½ 
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21  :  9  21 9 30    

             40   

 40  :  49  21 49 70    

30 30units  litres  

1 1unit  litres  
40 40units  litres  

25- (b) According to the question ¼iz”ukuqlkj½] 

Pure alcohol ¼”kq) vYdksgy½ 100%  
By Alligation ¼feJ.k fu;e ds }kjk½] 

 

 

 

  

 

This Mixture is    4   :    1  

of 400 ml                  100                100  

multiply by 100       400       :   100  

make it 400        

Alternate: 

A  W  Total 

5  3   17   20  
Units add  

  8   17   25  
 20 400units ml  

1
400

20
unit   

5
400

5 100
20

units     

Alcohol added in the mixture ¼feJ.k eas vYdksgy 

feyk;k x;k½ 100 ml  
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